= oI Eo= 2

M

—_—

e

rr

oh XA = 8
=0{, ot 7} 99| Hij=

-

= o rp
=2

m

mujn

IE mn

k1

-
rr A
ro
oy
4> 3
o
Ot

=

=
=2
rH
oz
o

rok
J\l
40 oM

>
Rl

ru
(o]

10
Hr
Pl

rr
L
=2
N
mfn
Hd
i

>
ro
Ot
2
12
Hr
Of
rr
it
H'|

ot

[
=
=2
=X
=]
2l

29| i =5E{ 99| HYLTHK| S
off 2| HHER A
0[7| & std, oFF

40| SHOF SFCf, OffH HU| M= —?—El7f M%&E 1

£ 79 0|2 E42 0|83 0j7l 48 HET BT

rﬂ

S0{& X, 70| Yets| 7707t &
| 772071 21 7+ 2 77Xt2| 79| i

O|H & MENME 7
77777770|Ct. 2HCHH 70| A

.;_nqe

=T

TEHO[ Blo{ M CHE B =~0i| H
Zol2E|X ZllM 4V|= 2A|

4 Atg



=
rr
THH
2
i

HEE DRIUS WA S2EH 20| B8 22 4 YUXB, 12H LR 0|7t gOL| HEEIS MK g

o

M| Al =7 HFZEC,

https://horizon.kias.re.kr/archives/allarticles/puzzle/7 & |- Z- & &-7 2| -7/?style=style6&type=print 2/2



